



A new integral operator using generalized hypergeometric operator

¹Manisha Summerwar, ²Lokesh Jasoria, ³SK Bissu

¹Govt. Girls Sr. Sec. School, Kishangarh, Ajmer, Rajasthan, India

²Government Girl's College, Chittorgarh, Rajasthan, India

³Government College Ajmer, Ajmer, Rajasthan, India

Abstract

In this paper, we define a new integral operator using generalized hypergeometric operator for certain p-valent functions in the unit disc. By using new integral operator we obtain many known integral results.

Keywords: p-valent functions, generalized hypergeometric functions

1. Introduction

Let A_p denote the class of functions of the form

$$f(z) = z^p + \sum_{k=p+n}^{\infty} a_k z^k, \quad (p, n \in \mathbb{N} = \{1, 2, \dots\}) \quad (1)$$

Which are analytic and p-valent in the punched open unit disc $\mathbb{U} = \{z \in \mathbb{C} : |z| < 1\}$.

For functions $f \in A_p$ given by (1) and $g \in A_p$ given by

$$g(z) = z^p + \sum_{k=p+n}^{\infty} b_k z^k,$$

The Hadamard product (or convolution) of f and g is defined by

$$(f * g)(z) = z^p + \sum_{k=p+n}^{\infty} a_k b_k z^k = (g * f)(z).$$

For positive real numbers $\alpha_1, \alpha_2, \dots, \alpha_u; \beta_1, \beta_2, \dots, \beta_v; A_1, A_2, \dots, A_u$ and B_1, B_2, \dots, B_v ($u, v \in \mathbb{N}$) such that

$$1 + \sum_{j=1}^{\infty} B_j - \sum_{j=1}^{\infty} A_j \geq 0, \quad (2)$$

The Wright's generalized hypergeometric function [2]

$${}_uW_v[(\alpha_1, A_1), \dots, (\alpha_u, A_u); (\beta_1, A_1), \dots, (\beta_v, A_v)] = {}_uW_v[(\alpha_j, A_j)_{1,u}; (\beta_j, B_j)_{1,v}; z]$$

is defined by

$${}_uW_v[(\alpha_j, A_j)_{1,u}; (\beta_j, B_j)_{1,v}; z] = \sum_{k=0}^{\infty} \left\{ \frac{\prod_{j=1}^u \Gamma(\alpha_j + kA_j)}{\prod_{j=1}^v \Gamma(\beta_j + kB_j)} \right\} \cdot \frac{z^k}{k!} \quad (z \in \mathbb{U})$$

In particular if $A_j = 1 (j = 1, 2, \dots, u)$ and $B_j = 1 (j = 1, 2, \dots, v)$, we have the following obvious relationship

$$\sigma {}_uW_v[(\alpha_j, 1)_{1,u}; (\beta_j, 1)_{1,v}; z] = {}_uF_v(\alpha_1, \alpha_2, \dots, \alpha_u; \beta_1, \beta_2, \dots, \beta_v; z) \quad (3)$$

Where ${}_uF_v(\alpha_1, \alpha_2, \dots, \alpha_u; \beta_1, \beta_2, \dots, \beta_v; z)$ is the generalized hypergeometric function for detail [see 5,8] and

$$\sigma = \left\{ \prod_{j=1}^u \Gamma(\alpha_j) \right\}^{-1} \cdot \left\{ \prod_{j=1}^v \Gamma(\beta_j) \right\} \quad (4)$$

Recently Wright hypergeometric functions have been involved in the geometric function theory also for more detail [see 7, 8, 1, 6] here we introduce the linear operator

$$\Theta_p [(\alpha_j, A_j)_{1,u}; (\beta_j, B_j)_{1,v}] : A_p \rightarrow A_p$$

defined by convolution

$$\Theta_p [(\alpha_j, A_j)_{1,u}; (\beta_j, B_j)_{1,v}] f(z) = \sigma \left\{ z^p {}_uW_v[(\alpha_j, 1)_{1,u}; (\beta_j, 1)_{1,v}; z] \right\} * f(z)$$

In particular, the operator $\Theta_p [(\alpha_j, A_j)_{1,u}; (\beta_j, B_j)_{1,v}]$ was investigated by Dziok and Raina [1]. We observe that for a function f defined by (1) we have

$$\Theta_p [(\alpha_j, A_j)_{1,u}; (\beta_j, B_j)_{1,v}] f(z) = z^p + \sum_{k=p+n}^{\infty} \Omega_k a_k z^k \quad (5)$$

Where

$$\Omega_k = \sigma \left\{ \frac{\prod_{j=1}^u \Gamma(\alpha_j + A_j(k-p))}{\prod_{j=1}^v \Gamma(\beta_j + B_j(k-p))} \right\} \cdot \frac{1}{(k-p)!} \quad (6)$$

Where σ is given by (5). For convenience, we write

$$\Theta_p f(z) = \Theta_p [(\alpha_j, A_j)_{1,u}; (\beta_j, B_j)_{1,v}] f(z) \quad (7)$$

Guney *et al.* [9] defined the general differential operator $D_{\lambda, l, p, \delta, \beta}^{m, \gamma}$ as follows:

$$\begin{aligned}
 D^0 f(z) &= f(z) \\
 D_{\lambda,l,p,\delta,\beta}^{1,\gamma} f(z) &= \frac{p-p(\lambda-\delta)(\beta-\gamma)+l}{p+l} \Theta_p f(z) + \frac{(\lambda-\delta)(\beta-\gamma)}{p+l} z \left(\Theta_p f(z) \right)' = D_{\lambda,l,p,\delta,\beta}^\gamma f(z) \\
 D_{\lambda,l,p,\delta,\beta}^{2,\gamma} f(z) &= D_{\lambda,l,p,\delta,\beta}^\gamma \left(D_{\lambda,l,p,\delta,\beta}^{1,\gamma} f(z) \right)
 \end{aligned}
 \tag{8}$$

$$D_{\lambda,l,p,\delta,\beta}^{m,\gamma} f(z) = D_{\lambda,l,p,\delta,\beta}^\gamma \left(D_{\lambda,l,p,\delta,\beta}^{m-1,\gamma} f(z) \right)
 \tag{9}$$

Where $\lambda, l, p, \delta, \beta \geq 0, \lambda > \delta, \beta > \gamma, m \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$.

If $f(z)$ is given by (1), then by (5) - (9), we get

$$D_{\lambda,l,p,\delta,\beta}^{m,\gamma} f(z) = z^p + \sum_{k=p+n}^\infty \Omega_k^m \alpha_k z^k,
 \tag{10}$$

Where

$$\Omega_k^m = \sigma \left\{ \frac{\prod_{j=1}^m \Gamma(\alpha_j + A_j(k-p))}{\prod_{j=1}^m \Gamma(\beta_j + B_j(k-p))} \right\} \cdot \frac{1}{(k-p)!} \cdot \frac{p+(k-p)(\lambda-\delta)(\beta-\gamma)+l}{p+l}
 \tag{11}$$

For the special cases of some variables of the operator $D_{\lambda,l,p,\delta,\beta}^{m,\gamma} f(z)$, we have $D_{\lambda,l,p}^{m,\gamma} f(z)$ which was introduced and studied by [10] (see for details [9])

In [9], the author defined the class $S_{\lambda,l,\delta,\beta}^{m,\gamma,p}(n, \varphi, b)$ be the class of function $f(z) \in A_p$.

$$\Re \left\{ p + \frac{1}{b} \left(\frac{z(D_{\lambda,l,p,\delta,\beta}^{m,\gamma} f(z))'}{D_{\lambda,l,p,\delta,\beta}^{m,\gamma} f(z)} - p \right) \right\} > \varphi
 \tag{12}$$

And $C_{\lambda,l,\delta,\beta}^{m,\gamma,p}(n, \varphi, b)$ be the class of function $f(z) \in A_p$ satisfying

$$\Re \left\{ p + \frac{1}{b} \left(1 + \frac{z(D_{\lambda,l,p,\delta,\beta}^{m,\gamma} f(z))''}{(D_{\lambda,l,p,\delta,\beta}^{m,\gamma} f(z))'} - p \right) \right\} > \varphi
 \tag{13}$$

Where $z \in \mathbb{U}, b \in \mathbb{C} - \{0\}, 0 \leq \varphi < p$ and $D_{\lambda,l,p,\delta,\beta}^{m,\gamma}$ is the differential operator defined by (10).

We note that $f \in C_{\lambda,l,\delta,\beta}^{m,\gamma,p}(n, \varphi, b)$ if and only if $\frac{1}{p} z f' \in S_{\lambda,l,\delta,\beta}^{m,\gamma,p}(n, \varphi, b)$.

We define the class $M_{\lambda,l,\delta,\beta}^{m,\gamma,p}(n, \varphi, \alpha, b, s)$ of the function $f(z) \in A_p$ which satisfy the following inequality

$$\Re \left\{ p + \frac{1}{b} \left(\frac{z \left(\frac{1-\alpha}{1+s(p+\alpha-1)} \left[(1-s) D_{\lambda,l,p,\delta,\beta}^{m,\gamma} f(z) + s z \left(D_{\lambda,l,p,\delta,\beta}^{m,\gamma} f(z) \right)' \right] \right)'}{\frac{1-\alpha}{1+s(p+\alpha-1)} \left[(1-s) D_{\lambda,l,p,\delta,\beta}^{m,\gamma} f(z) + s z \left(D_{\lambda,l,p,\delta,\beta}^{m,\gamma} f(z) \right)' \right]} - p \right) \right\} > \varphi
 \tag{14}$$

Where $z \in \mathbb{U}, b \in \mathbb{C} - \{0\}, 0 \leq \varphi < p$ and $D_{\lambda,l,p,\delta,\beta}^{m,\gamma}$ is the differential operator defined by (10).

Now we define general integral operator as follows:

$$D_{\lambda,l,p,\delta,\beta}^{q,\gamma,\alpha} \mathcal{F}_{\lambda,l,p,\delta,\beta,r,|\mu|}^{m,\gamma,p,s}(z) = \int_0^z p t^{p-1} \prod_{i=1}^{|\mu|} \left(\frac{(1-\alpha)(1-s_i)}{1+s_i(p+\alpha-1)} \frac{D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(t)}{t^p} + \frac{(1-\alpha)s_i}{1+s_i(p+\alpha-1)} \frac{\left(D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(t) \right)'}{t^{p-1}} \right)^{r_i} dt,
 \tag{15}$$

Where $z \in \mathbb{U}, f_i \in A_p, \mu \in \mathbb{C}, |\mu| \notin [0,1], [|\mu|]$ is the integral part of the modulus of $\mu, I = [0,1], s = (s_1, s_2, \dots, s_{[|\mu|]}) \in I^{[|\mu|]}, m = (m_1, m_2, \dots, m_{[|\mu|]}) \in \mathbb{N}_0^{[|\mu|]}, r = (r_1, r_2, \dots, r_{[|\mu|]}) \in \mathbb{R}_+^{[|\mu|]}$ and $D_{\lambda,l,p,\delta,\beta}^{q,\gamma}$ is the differential operator defined by (10).

Remark 1: Taking $s_1 = s_2 = \dots = s_{[|\mu|]} = 0$ and $s_1 = s_2 = \dots = s_{[|\mu|]} = 1$ with the special cases of some variables of the operator $D_{\lambda,l,p,\delta,\beta}^{q,\gamma}$, we obtain the general integral operator $D_{\lambda,l,p}^{q,\alpha} \mathcal{F}_{p,|\mu|,m,k}$ and $D_{\lambda,l,p}^{q,\alpha} \mathcal{G}_{p,|\mu|,m,k}$ which were studied in [11], respectively.

Remark2: Taking $s_1 = s_2 = \dots = s_{[|\mu|]} = 0$ and $s_1 = s_2 = \dots = s_{[|\mu|]} = 1, \alpha = 0, q = 0, \mu = c \in \mathbb{N}, \alpha_j = A_j = 1 (j = 1, 2, \dots, u), \beta_j = B_j = 1 (j = 1, 2, \dots, v), u - v = 1, \lambda = 1, \beta = 1, \delta = 0, \gamma = 0, l = 0$ we obtain

$$\mathcal{F}_{p,c,m,k}(z) = \int_0^z p t^{p-1} \left(\frac{D^{m_1} f_1(t)}{t^p} \right)^{k_1} \dots \dots \left(\frac{D^{m_c} f_c(t)}{t^p} \right)^{k_c} dt$$

And

$$\mathcal{G}_{p,c,m,k}(z) = \int_0^z p t^{p-1} \left(\frac{D^{m_1} f_1(t)}{p t^{p-1}} \right)^{k_1} \dots \dots \left(\frac{D^{m_c} f_c(t)}{p t^{p-1}} \right)^{k_c} dt$$

Which was introduced by Saltik *et al.* [12], respectively.

Remark3: Taking $s_1 = s_2 = \dots = s_{[|\mu|]} = 0$ and $s_1 = s_2 = \dots = s_{[|\mu|]} = 1, \alpha = 0, q = 0, \mu = c \in \mathbb{N}, \alpha_j = A_j = 1 (j = 1, 2, \dots, u), \beta_j = B_j = 1 (j = 1, 2, \dots, v), u - v = 1, \beta = 1, \delta = 0, \gamma = 0, l = 0, m_1 = m_2 = \dots = m_{[|\mu|]} = 0, \lambda = 1$, we obtain

$$\mathcal{F}_p(z) = \int_0^z p t^{p-1} \left(\frac{f_1(t)}{t^p} \right)^{k_1} \dots \dots \left(\frac{f_c(t)}{t^p} \right)^{k_c} dt$$

And

$$G_p(z) = \int_0^z pt^{p-1} \left(\frac{f_1(t)}{pt^{p-1}}\right)^{k_1} \dots \dots \left(\frac{f_c(t)}{pt^{p-1}}\right)^{k_c} dt$$

Which was introduced by Frasin [13], respectively.

2. Sufficient conditions of the operator $D_{\lambda,l,p,\delta,\beta}^{q,\gamma,\alpha} \mathcal{F}_{\lambda,l,p,\delta,\beta,r,[|\mu|]}^{m,\gamma,p,s}$

For the simplicity, we will use the symbol $D\mathcal{F}^q$ instead of $D_{\lambda,l,p,\delta,\beta}^{q,\gamma,\alpha} \mathcal{F}_{\lambda,l,p,\delta,\beta,r,[|\mu|]}^{m,\gamma,p,s}$.

Theorem 1: Let $\mu \in \mathbb{C}$, $|\mu| \notin [0,1)$, $[|\mu|]$ is the integral part of the modulus of μ , $s = (s_1, s_2, \dots, s_{[|\mu|]}) \in I^{[|\mu|]}$, $I = [0,1]$, $m = (m_1, m_2, \dots, m_{[|\mu|]}) \in \mathbb{N}_0^{[|\mu|]}$, $r = (r_1, r_2, \dots, r_{[|\mu|]}) \in \mathbb{R}_+^{[|\mu|]}$. Also $f_i \in M_{\lambda,l,\delta,\beta}^{m,\gamma,p}(n, \varphi_i, \alpha, b, s)$ for $1 \leq i \leq [|\mu|]$. if

$$0 \leq p + \sum_{i=1}^{[|\mu|]} r_i(\varphi_i - p) < p, \tag{16}$$

Then the integral operator $D\mathcal{F}^q$ defined by (15) is in the class $M_{\lambda,l,\delta,\beta}^{m,\gamma,p}(n, \xi, \alpha, b, s)$, where

$$\xi = p + \sum_{i=1}^{[|\mu|]} r_i(\varphi_i - p). \tag{17}$$

Proof: From (15), we obtain

$$(D\mathcal{F}^q)'(z) = p z^{p-1} \prod_{i=1}^{[|\mu|]} \left(\frac{(1-\alpha)(1-s_i) D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z)}{1+s_i(p+\alpha-1) z^p} + \frac{(1-\alpha)s_i \left(D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z) \right)'}{1+s_i(p+\alpha-1) z^{p-1}} \right)^{r_i}$$

and

$$\frac{z(D\mathcal{F}^q)''(z)}{(D\mathcal{F}^q)'(z)} = (p-1) + \sum_{i=1}^{[|\mu|]} r_i \left(\frac{z \left(\frac{1-\alpha}{1+s_i(p+\alpha-1)} \left[(1-s_i) D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z) + s_i z \left(D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z) \right)' \right] \right)'}{\frac{1-\alpha}{1+s_i(p+\alpha-1)} \left[(1-s_i) D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z) + s_i z \left(D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z) \right)' \right]} - p \right)$$

Or equivalently

$$\frac{z(D\mathcal{F}^q)''(z)}{(D\mathcal{F}^q)'(z)} + 1 - p = \sum_{i=1}^{[|\mu|]} r_i \left(\frac{z \left(\frac{1-\alpha}{1+s_i(p+\alpha-1)} \left[(1-s_i) D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z) + s_i z \left(D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z) \right)' \right] \right)'}{\frac{1-\alpha}{1+s_i(p+\alpha-1)} \left[(1-s_i) D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z) + s_i z \left(D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z) \right)' \right]} - p \right)$$

That is

$$\frac{1}{b} \left(\frac{z(D\mathcal{F}^q)''(z)}{(D\mathcal{F}^q)'(z)} + 1 - p \right) = \sum_{i=1}^{[|\mu|]} r_i \frac{1}{b} \left(\frac{z \left(\frac{1-\alpha}{1+s_i(p+\alpha-1)} \left[(1-s_i) D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z) + s_i z \left(D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z) \right)' \right] \right)'}{\frac{1-\alpha}{1+s_i(p+\alpha-1)} \left[(1-s_i) D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z) + s_i z \left(D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z) \right)' \right]} - p \right)$$

Or equivalently

$$\begin{aligned} & \frac{1}{b} \left(\frac{z(D\mathcal{F}^q)''(z)}{(D\mathcal{F}^q)'(z)} + 1 - p \right) + p \\ &= \sum_{i=1}^{[|\mu|]} r_i \left(p + \frac{1}{b} \left(\frac{z \left(\frac{1-\alpha}{1+s_i(p+\alpha-1)} \left[(1-s_i) D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z) + s_i z \left(D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z) \right)' \right] \right)'}{\frac{1-\alpha}{1+s_i(p+\alpha-1)} \left[(1-s_i) D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z) + s_i z \left(D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z) \right)' \right]} - p \right) \right) + p - p \sum_{i=1}^{[|\mu|]} r_i \end{aligned}$$

Since $f_i \in M_{\lambda,l,\delta,\beta}^{m,\gamma,p}(n, \varphi_i, \alpha, b, s)$ ($1 \leq i \leq [|\mu|]$), we get

$$\begin{aligned} & \Re \left(\frac{1}{b} \left(\frac{z(D\mathcal{F}^q)''(z)}{(D\mathcal{F}^q)'(z)} + 1 - p \right) + p \right) \\ &= \sum_{i=1}^{[|\mu|]} r_i \Re \left(p + \frac{1}{b} \left(\frac{z \left(\frac{1-\alpha}{1+s_i(p+\alpha-1)} \left[(1-s_i) D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z) + s_i z \left(D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z) \right)' \right] \right)'}{\frac{1-\alpha}{1+s_i(p+\alpha-1)} \left[(1-s_i) D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z) + s_i z \left(D_{\lambda,l,p,\delta,\beta}^{m_i,\gamma} f_i(z) \right)' \right]} - p \right) \right) + p - p \sum_{i=1}^{[|\mu|]} r_i \\ &> p + \sum_{i=1}^{[|\mu|]} r_i(\varphi_i - p) \end{aligned}$$

Hence the integral operator $D_{\lambda,l,p,\delta,\beta}^{q,\gamma,\alpha} \mathcal{F}_{\lambda,l,p,\delta,\beta,r,[|\mu|]}^{m,\gamma,p,s}(z) \in M_{\lambda,l,\delta,\beta}^{m,\gamma,p}(n, \xi, \alpha, b, s)$ with

$$\xi = p + \sum_{i=1}^{[|\mu|]} r_i(\varphi_i - p)$$

Which completes proof of theorem.

Corollary 1: Let $\mu \in \mathbb{C}$, $|\mu| \notin [0,1)$, $[|\mu|]$ is the integral part of the modulus of μ , $s_1 = s_2 = \dots = s_{[|\mu|]} = 0$, $m = (m_1, m_2, \dots, m_{[|\mu|]}) \in \mathbb{N}_0^{[|\mu|]}$, $r = (r_1, r_2, \dots, r_{[|\mu|]}) \in \mathbb{R}_+^{[|\mu|]}$. Also $f_i \in S_{\lambda,l,\delta,\beta}^{m,\gamma,p}(n, \varphi_i, b)$ for $1 \leq i \leq [|\mu|]$. if

$$0 \leq p + \sum_{i=1}^{[|\mu|]} r_i(\varphi_i - p) < p,$$

Then the integral operator

$$D_{\lambda, l, p, \delta, \beta}^{q, \gamma, \alpha} \mathcal{F}_{\lambda, l, p, \delta, \beta, r, [\mu]}^{m, \gamma, p, s}(z) = \int_0^z p t^{p-1} \prod_{i=1}^{[\mu]} \left((1 - \alpha) \frac{D_{\lambda, l, p, \delta, \beta}^{m_i, \gamma} f_i(t)}{t^p} \right)^{r_i} dt$$

is in the class $S_{\lambda, l, \delta, \beta}^{m, \gamma, p}(n, \xi, b)$, where $\xi = p + \sum_{i=1}^{[\mu]} r_i(\varphi_i - p)$.

Corollary 2: Let $\mu \in \mathbb{C}$, $|\mu| \notin [0, 1)$, $[\mu]$ is the integral part of the modulus of μ , $s_1 = s_2 = \dots = s_{[\mu]} = 1$, $m = (m_1, m_2, \dots, m_{[\mu]}) \in \mathbb{N}_0^{[\mu]}$, $r = (r_1, r_2, \dots, r_{[\mu]}) \in \mathbb{R}_+^{[\mu]}$. Also $f_i \in S_{\lambda, l, \delta, \beta}^{m, \gamma, p}(n, \varphi_i, b)$ for $1 \leq i \leq [\mu]$. if $0 \leq p + \sum_{i=1}^{[\mu]} r_i(\varphi_i - p) < p$,

Then the integral operator

$$D_{\lambda, l, p, \delta, \beta}^{q, \gamma, \alpha} \mathcal{G}_{\lambda, l, p, \delta, \beta, r, [\mu]}^{m, \gamma, p, s}(z) = \int_0^z p t^{p-1} \prod_{i=1}^{[\mu]} \left(\frac{(1 - \alpha) \left(D_{\lambda, l, p, \delta, \beta}^{m_i, \gamma} f_i(t) \right)'}{(p + \alpha) t^{p-1}} \right)^{r_i} dt$$

is in the class $C_{\lambda, l, \delta, \beta}^{m, \gamma, p}(n, \xi, b)$, where $\xi = p + \sum_{i=1}^{[\mu]} r_i(\varphi_i - p)$.

Remark 4: Taking $s_1 = s_2 = \dots = s_{[\mu]} = 0$ and $s_1 = s_2 = \dots = s_{[\mu]} = 1$, $\alpha = 0$, $q = 0$, $\mu = c \in \mathbb{N}$, $\alpha_j = A_j = 1$ ($j = 1, 2, \dots, u$), $\beta_j = B_j = 1$ ($j = 1, 2, \dots, v$), $u - v = 1$, $\beta = 1$, $\delta = 0$, $\gamma = 0$, $l = 0$, $m_1 = m_2 = \dots = m_{[\mu]} = 0$, $\lambda = 1$, $\alpha = 0$ and $p = n - 1$ in Theorem 1, we have Theorem 1 and Theorem 3 in [3] respectively. Also adding $\varphi_1 = \varphi_2 = \dots = \varphi_{[\mu]} = \varphi$ to the hypothesis, we obtain Theorem 1 and Theorem 3 in [4] respectively.

3. References

1. J.Dziok and R.K.Raina, "Families of analytic functions associated with the Wright hypergeometric function," Integral Transforms Spec. Funct., Vol 14, pp. 7-18,2004.
2. E.M.Wright, "The asymptotic expansion of generalized hypergeometric function," Proc.London Math Soc., 1946(46), pp.389-408.
3. S.Bulut, "A note on the paper of Breaz and Guney" J. Math. Ineq., 2(2008), no. 4, pp549-553.
4. Breaz . and Guney H.O., "The integral operator on the classes $S^*band C(b)$ " J. Math. Ineq., 2(2008), no. 1, pp97-100.
5. M.K.Aouf and T.M.Seoudy, "Classes of analytic functions related to the Dziok-Srivastava operator," Integral Transforms Spec. Funct., 2011(22), pp423-430.
6. R.K.Raina and T.S.Nahar, "On characterization of certain wright generalised hypergeometric functions involving certain subclasses of analytic functions," Informatica 1999(102), pp3076-3082.
7. S.K.Bansal, J.Dziok and P.Goswami, "Certain results for a subclass of meromorphic multivalent fctions associated with the wright hypergeometric function," European J. Pure Appl. Math., 2010(3), pp633-640.
8. Dziok J. and H.M.Srivastava, "Certain subclasses of analytic functions associated with the generalized hypergeometric function," Integral Transforms Spec. Funct., 2004(37), pp533-542.
9. Guney H.O., Sakar F.M. and Kamali M, "The generalization of the generalized Al-Oboudi differential operator defined by Wright's generalized hypergeometric functions" Acta Universitatis Apulensis, 28(2011)
10. Bulut S, "The generalization of the generalized Al-Oboudi differential operator" Appl.Math.Comput., 215(2009), pp1448-1455.
11. Guney H.O., Bulut S, "Two new general integral operators on the certain classes of p-valent functions defined by a general differential operator, submitted.
12. Saltik G., Deniz E. and Kadioglu E., "Two new general p-valent integral operators" Math. Comput. Modelling, 52(2010), pp 1605- 1609.
13. Frasin B.A., "New general integral operators of p-valent functions" J. Inequal. Pure Appl. Math., 10 (2009). No. 4, pp9-12.